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GENERAL STUDIES / V= aneza=

1.  Transport, Communication, Commerce . oRaE, $ox, afea fa ¥ smrfasm € ?

come under the - (a) Sfe nfafaftedt

(a) Primary activities (b) Rfrasafifftd

(b) Secondary activities ' ) Tras R

(c) Tertiary activities (d) Wﬂﬁrﬁﬂnﬁ

(d) Rural activities
2. 'Alha' is'a popular folk song of which 2. 3w v Bwha wha admmd?

area - (a) RTAS

() Rohilkhand : (b) FROATS

(b) Bundelkhand (c) gatas |

(c) Purvanchal (d) RThIERERT

(d) Westemn Uttar Pradesh _
3.  Consider the following events and 3. frfRea oo w Rar e sk ¥ o

arrange them in chronological order TAFER FARGA BT

I. Battle of Daurah . dRrFg=E

II. Battle of Kannauj I1. FEeEg=

III. Battle ofSamugarh I11. mmgm

IV. Battle of Chausa Iv. dagE

Select the correct answer using the code M RAT P A wH TR G

given below : 7%

Cades @ I, I, L IV

W o s b 1’1v ’n’ I

() I, IV, 11, III LR R

@© L I, Iv, © I, 10, IV, II

@ 11, 1, v, 1 (@ I, I, IV, III
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4. Match List | with List Il and choose the
correct answer from the codes given
below:

List I

(Author)

V. D. Savarkar

R. C. Majumdar

S. B. Chaudhuri

Ashok Mehta

List IT

(Title of the Book)

1. The Great Rebellion

. The Indian war of Independence

3. The Sepoy Mutiny and the Revolt

of 1857
4. Civil Rebellion in the Indian
Mutinies (1857-59)

oaw»

Code :

S B el
(@ 2 3 4 1
(b) 2 3 1 4
(c) Ci—— 4 1
(d 3 1 2 4

5. In which of the following state is Black 5.
Pepper and Cardamom produced ?

(a) Assam
(b)" Jammu and Kashmir
(¢) Himachal Pradesh
(d) Kerala
6.  Which of the following does not require 6.
a medium ?

(a) Radiation
(c) Conduction

(b) Convection
(d) None of these

7.  Work as intermediaries between biotic 1.
and abiotic components :-

(a) Parasite

(b) Decomposers
(c) Producers

(d) Consumers

8. Gupta gold coin was called - 8.
(@)  Karshapana (b) Dinara
(¢) Nishka (d) Suvarna
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Match List I (Naturally occurring 9
substances) with List Il (Elements) and

select the correct answer from the codes

given below the lists :

List I List I1
A Diamond 1. Calcium
B Marble 2. Silicon
C Sand 3. Aluminium oxide
D Ruby 4. Carbon
Code :
A B C D
(@ 1 2 3 4
(b) 4 1 2 3
(c) 3 1 2 -4
(d) 4 2 1 3
Match List I with List Il and select the 10.
correct answer using the codes given
~ below:
List I List II
A Ashtadhyayr 1. Yaska
B Mahabhashya 2. Katyayan
C Nirukta 3. Patanjali
D Varttika 4. Panini
Code :
A B
(a) 4 3 1 2
(b) 2 3 1 4
(c) 1 2 3 4
@3 1 4 2
Which of the following is not a 11.

greenhouse gas ?

(a) Oxygen

(b) Carbon dioxide

(c) Chlorofluorocarbons
(d) Methane

Which number will come at the place of 2 12.

in the following table / figure ?

I 3 7
5 12 14
25 ? 28

125 192 56

(a) 40 (b) 48
(c) 56 (d) o4
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14.
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16.

17.

18.
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af¥ersht efiren 3 walfts dn saes 2 # -

In West Asia, the highest Petroleum 13.
producing country is :
(a) Iraq (b) Iran

(c) Saudi Arabia (d) Lebanon

Which of the following is not among the 14.
major resources of Russia ?

(a) Coal (b) Iron - ore
(c) Diamonds (d) Uranium
What will come in place of question 15.
mark ?
9 11 99
1o | 25 50
28 35 ?
(a) 110 (b) 140
(© 148 d 175

As part of New Forest Inventory Design 16.

implemented in 2016, the revisit time has
been reduced to :-

(@) 5 years (b) 2 years

(c) 6 months (d) 10 years
Complete the following seﬁes - 17.
2,9,28,65,°?

(a) 121 (b) 195

(c) 126 (d) 103

Given below are two statements, one 18.

labelled as Assertion (A) and other as
reason (R).

Assertion (A) : The biOSpﬁere is an
example of open system.

Reason (R) : There can not be
reinvestment of new substances in the

bio-sphere but there is no restriction on
the investment and exit of energy.

Select the correct answer using the codes
below :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b)  Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(¢)  (A)is true but (R) is false
(d) (A)is false but (R) is true
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19.

21.

22,

23.

24.

Which Union Territory of India has the
lowest Sex-Ratio as per the 2011 census

(a) Chandigarh

(b) Dadra and Nagar Haveli
(¢) Daman and Diu

(d) Lakshadweep

Match List I with List II and select the
correct answer using the codes given
below:

List I List [I
(Couniry) (Principal Primary Export)
A Chad 1. Cotton
B  Niger 2. Uranium
C Rwanda 3. Petroleum
D Benin 4, Coffee
Code :

e B C D
(a) 4 1 3 2
(b)y 2 4 ] 3
%3 2 4 1
(d) 1 3 2 4

Part of which state of the country is not
included in National Capital Region.

(a) Delhi (b) Uttar Pradesh
(c) Haryana (d) Madhya Pradesh

At current rate of growth, the urban
population of India by the year 2030 will
reach :

(a) 575 million (b)
(c) 750 million  (d)

Who is the father of scientific
management ?

675 million
900 million

(a) Henry Fayol (b) Elton Mayo
(c) Cheston Bernard (d) F. W, Taylor

In long-sightedness, images are formed
at following -

(a) On Retina

(b) Infront of Retina
(c) Behind Retina
(d) On blind Spot
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26.

28.

29.

30.
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- Consider the following events and arrange

25,
them-in chronological order :

. Cripps Mission

[I.  August Offer

[II. Nehru Report

IV. Wavell Plan

Select correct answer from the codes

given below :

Code :

(@ L 1, I, 1V
(b)y i, 1, I, 1v
(¢ I, I, I, IV
(dy 1, 11, I IV

Which of the following pair is not 26.
correctly matched.
List I List I1
(Crop/Plantation) (largest producer state)
(a) Jute West Bengal
(b) Tea Assam
(c) Sugarcane  Uttar Pradesh
(d) Rubber Himachal Pradesh

On the banks of which niver did Mahavira 27.
Swami attained enlightenment?

(b) Palashini
(d) Rijupalika

(a) Swarnasikta
(c) Ganga

A man is facing east, rotates in clockwise  28.
direction 60° and then anti-clockwise

direction 255° and finally clockwise

direction 105°. Which direction is he

facing now ?

(@)  North - East
(c) West

(b) North
(d) South - East

Improvement of profit volume ratio can 29,

be done by the following -

(a) Increasing selling price

(b) Altering sales mixture

(¢) Reducing Variable cost

(d) All of the above

For every action there is an equal and 30.
opposite reaction. This law was given by:

(a) Newton (b)  Albert Einstein
(c) Bohr (d) Handane
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31.  Who translated 'Baburnama’ into english?

The Vision

(a) Leyden and Erskine
(b)  William Hawkins

(¢) Finch

(d) William Jones

32.  Match List I with List Il and select the
correct answer using the codes given

below:
List I
A Stupa
B  Painting

C Headless statue

of Kanishka
D Dashavatara

Temple
Codes :

A B
(a) 1 2
(b) 2 |
(c) 4. 3
(d 3 2

N b W N

List [I

1. Bagh

2. Sanchi
3. Deogarh

4. Mathura

w-b-o

1
4

33. Match List I with List II and select the
correct answer using the codes given

below the lists :

List I List IT
A Ballabhacharya 1. Dwaitvad
B Ramanuj 2. Pushtimarg
C Madhvacharya 3. Vishistadwait
D Shankar 4. Adwaitvad
Codes :

A B C D
(a) 1 3 4 2
(b) 2 4 1 3
© 2 3 1 4
(d) 4 | 3 2
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34. Which Article of the Indian Constitution
provides right to vote i.e. adult suffrage
for electing representatives of Lok Sabha
and Vidhan Sabha ?

(a) Article 326  (b) Article 325

(c) Article 324  (d)
35. Malampuzha dam is situated on which

river?

(@) Bharatpuzha (b)

(c) Malampuzha (d)

Korapuzha
Pamba

36. Which number is wrong in the given

series ? :

1235, 2425, 3158, 4235

(a) 1235 (h) 2425
(© 3158 (d) 4235

37.  Match List I with List 11 and select the
correct answer using the codes given
below:

List I

(News Paper)

Bengalee

Bangbasi

Vande Mataram

Amrit Bazar Patrika

List II '

(Publisher)

1. Jogendra Nath Bose

2. Arvind Ghosh

3. Surendranath Baneree

4. Moti lal Ghosh

Code :

TCOw>»

A B
(a) 2 1
(b) 3 1
(c) 3
(d) 4

D
4
4

£

1
1

NN W AN

LFS ]

38.  Chitrakot waterfall is'situated in :

(@)  Chitrakoot (b)  Bastar
(c) Jabalpur (d) Banda
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41.
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Complete the sequence with the correct
option from the following codes.

V, LB, ==, we, o, ===

(@ G.Y.O.R (0 GO Y.R
(¢) G.O.R. Y (d Y.G O.R

Consider the following statements about

Western Ghats -

. Itis ablock mountain

2. Its castern slope is a gently
lowering down plateau.

3. Its northem section s covered by
lava (Basalt)

Which of the above statements are

correct ?

(a) 1 and 2 (b) 2and 3
(c) 1 and 3 (d) 1.2 4and 3
Which one is a fundamental particle ”
(a) Neutron (b) Proton
() T-meson (d) quark

Superior Lake region in North America
is famous for -

(a)  1ron - Ore reserves

(b) coal reserves

(c) gold reserves

(d) uranium reserves

Who among the following has not scored
a century on Test debut ?

(a) Sourav Ganguly

(b) Virendra Sehwag

(¢) Prithvi Shaw

(d)  Sunil Gavaskar

Whom did Simona Halep defeat to win

the French Open Tennis Tournament
2018 ?

(a) Sloane Stephens
(b) Serena Williams
(¢) Venus Williams
(d) None of these
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Harnessing of nuclear encrgy often
causes :

(a) Air Pollution

(b) Water Pollution

(c) Thermal Pollution

(d) Noise Pollution

In the matrix given below, what are the
values of A, B and C

9 A 12

B 10

8 C 11
(@ A=9,B=11,C=13
(b) A=13,B=9,C=1l
() A=9;B=13,C=11
(L A=13,B=11,C=9

Which of the following alternatives will
come in place of X ?
27, 31, 305658 Ebidalent

(a) 156 (b) 165
(c) 166 (d) 169

A bill other than Money Bill which is
passed by Legislative Assembly for the
first time, may remain pending in the
legislative council for how many months?

(a) For not more than one month
(b) For not more than two months
(¢) For not more than three months
(d) None of the above

Ozone layer of upper atmosphere is being ~ 49.

destroyed by which of the following ?
(a) Sulphur dioxide

(b)  Photo - chemical oxidants

(c) Chlorofluorocarbons

(d) Smog

Which one of the following vitamins is
formed in skin in the presence of
sunlight?

(a) Vitamin A (b)
(¢) Vitamin K (d)

Vitamin D
Vitamin E
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9 A 12
B 10 7
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27,31,40,56,81,117, X

(a) 15 (b) 165

(c) 166 (d) 169
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(d) IGFEAIDET

) e o 3 oA 1 o Py
IdfRaw@e?

(a) EBR SRINTARS
(b) R s sERISTH

) TORTEGRIGE

(d) ESio

P 3§ 9 - v fae e i & e &

wfadcmAsTard? -

(a) faef=A tb) fefmD

() fafmEK (d) fef=E
21X
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51.  Which of these is not a viral disease ?

(b) Rabies
(d) Tuberculosis

(a) Measles
(c) Polio

52.  Order of the size of Nucleus is following:

(a) l>':10'15 meter
(b) 1><10_12 meter

©)  1x107'0 meter

(d) None of above
53, What kind of tax is G.S.T. ?

(a) Direct Tax
(b) Indirect Tax

(c) Depends on the type of goods and
services

(d)- None of the above

54. India and Asia's first Dolphin Research
Centre - NDRC is being set up on the
banks of the Ganga river at
(a) Haridwar (b)
(c) Varanasi (d)

Patna
Bhagalpur

55.  Which one of the following will not have
a direct impact on human capital
formation ?

(a) Education
(c) Training

(b) Medical Care
(d) Irrigation

56. Which of the following is not considered

as social indicator of poverty ?
(a) Less number of means of transport

(b) Illiteracy level
(c) Lack of access to health care
(d)  Lack of job opportunities

57. Where in Uttar Pradesh is Knowledge
Park being established.

(a) Lucknow (b) Prayagaraj
(c) Varanasi (d) Greater NOIDA

51-General Studies
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£ ot oy v QT 2 2

(@) (b) =
() il (&) e

e B HTER A P FrefoRaa At & -
@  1x107" A=

b) 1x107"? A

©  1x107" A=

(d) IRETEHAIDET

3.oa.d. TR R 2?

(a) WEI
(b) TR BT

| (c) aﬁﬁeé@amﬁaswwﬁﬁtﬁmél

() IEFAABETE

TR T U T ST ST MU B
o1, .3z 2. &) T T A & e W few
TRAD AR ?

(a) &RegR (b) e
(c)  dORM (d) HFBYR

Pr=fsRaa 3 | Bi9-31 v wHa ot P
Th&T THTG &l ST 2

(a Ram  (b)
(c)  wfam (q)

fufecira cawe
Riemg

PrefsRaa # A fbwe! Wi &1 o Jus
e e e & 2

(a) TREEA S AG D BH T

(b) FRERATER

(c) TR WG T UgH B Sl

(d) AR S TR S

IR U ¥ S UK B RIG Bal B 57 el
&

(a) OFF (b)
(c) IO | (d)

YANRTS
e Aest



58.

59.

60.

61.

62.

63.
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'Flower' is related to 'Petals’ in the same 58.
way as 'Book' is related to :

(a) . Library ()  Author

(c) Pages (d) Content

Uruguay round pertains to - 50,
(@ WTO (b) IMF

(c) GATT (d) World Bank

Which of the following commodities has  60.
highest export from India in 2017 ?

(@) Agriculture and allied products

(b) Engineering goods

(¢) Textiles

(d) Chemicals s
Match List [ with List I and choose the 6.

correct answer using the code given
below.

List I List II
A Black Pottery 1. Moradabad
B Ceramic Pottery 2. Khurja
C Brass Artifact 3. Firozabad
D Glass Artifact 4. Nizamabad
Codes :
A B C D
(@ 1 3 2 4
b)) 4 2 1 3
(c) 3 1. 4 2
(d) 2 4 3 1
Where in Uttar Pradesh is located the 62.

State Leather Development and
Marketing Corporation ?

(a) Agra (b) Kanpur

() Moradabad (d) Ghaziabad
Where in Uttar Pradesh is Artificial 63.
Limbs Manufacturing Corporation

situated ?

(a) Varanasi (b)  Prayagaraj

()  Kanpur (d Agra

S1-General Studies 13

"G BT TR W 6 T & IR YRS
waftyag:

(a) gEEBAR (b) IEzA
(©) g=id (d) Rmaag]
& 2R frad wafaa 82

(a) z=g.éLan. (b) 3E.eA.v5.
© # (d) fmads
PrafeRea § 3 Fa s s12017 F wRa 4
frafa waffts w2

(a) PiYedw=faa e
(b) IR aRE

(SR
(d)  Xaad
N 1 1 g || & Pvem Sifse qun 7 A
T P A A T IR g :

R =R
A oRfRdEad 1. FeER
B dFiftcdidada 2. gt
C s Breagi 3. fimE=
D siem Breaghy 4, Frsmam
§3‘:

A B c D
@ 1 3 2 4
(b) 4 2 1 3
© 3 1 4 2
(d 2 4 3 1
IR W& &1 53 o faer v faaor e 3.
el Rua € ?
(a) 3mRI (b) BHEER
(© TEEE () wfraEr=
e wiar # pfm 3 Prfor frm 8 Rua 22
(a) SRR (b) ARG
(c) TBER (d) IRt

P.T.O.
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66.

67.

68.

E The Vision

Who is the Fiscal agent and advisor to 64,

government in monetary and financial

matters?
(a) NABARD
(b) S.B.L

(¢) RB.L

(d) None of the above

'Uttar Pradesh Ratna Award' has been
conferred on which Indian - American ?

(a) Sam Pitroda
(b) Sunita Williams
(c) Frank Islam
(d) Kalpana Chawla

Which of the following is not correctly

matched ?

(a) Anga— Champa

(b) Koshala— Ahichhatra

(c) Vatsa— Kaushambi

(d) Matsya— Viratnagar

Which of the following crop is
transplanted?

(@) Mustad (b))  Rice
(c) Wheat (d) Maize

Who among the following has been
appointed Goodwill Ambassador for
tourism and culture by the Nepalese
Government ?

(a) JayaPrada

(b) Hema Malini

(c) Priyanka Chopra
(d) None of these

51-General Studies
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ﬁmu_a'ﬁaﬂaqmdiﬁmmﬂaﬂum
v woReR B & ?

(a)

(b) wadam

() I3

(d) I Ao

e gt < QR s 3 & s
wREra-3rd RS 3 R @} 2 |

(a) wfE@

(b) e R

(c) WoFOM

(d) S AEE
Pepfmadds-a R gk d?
(2) T-=E

(b) —Erams - feBA

(© o - B

(d) mﬁmm

RrfREa ¥ 2 5 sae S AU B & ?
(a) W™ (b) o=

(0 d) S
Jures weoR  Prafiaa 3 | v v vd
Hepfay &1 A oTgn g fpaid ?

(a) SIYal

(b) SR

(c) i

(d) wTHADETH



69.

70.

71
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69. WG TETR & Ty # e ue ) R

Consider the following statements

regarding Lucknow metropolitan.

1. In the later half of 18" Century,
Nawab Aasaf-ud-daula developed
the town in a planned manner.

2. In British period, Sir Harcourt
Butler gave attention to its shapely
development.

3. Residential area is found on 23%
part of the total land of the
Metropolis.

Which is correct of the above statements?

Code :

(a) Only 2 (b) | and 2

(c) 2and 3 (d) 1,2 and 3

Part 16 of the [ndian Constitution is ' 70.
related to :

(a) Administrative Tribunal
(b) All India Services
(¢) Finance Commission

(d) Special provisions for certain
classes

Net export equals to : |

(a) Export x Imports

(b) Export+ Imports

(c) Export — Imports

(d) Exports of services only

S1-General Studies 15

s - :
1. 188 udt & IR A Tare Iwpte
TR 3 Fraifda s | RsRa Rsan |
2. RtnomimMmROETRATES
. gufsa fr R o & |
3. WeTIR @ o i & 23% v ok Rerash
AT SN |
I AT AT R?
F:
(@) Faw2 (b)
() 23R3 (d)

132
1,23R3

G Afa o1 9r-16 FRtaa @ -
(a) SRS St |

(b) IRE® wRe A3 |

(c) fmsmmal

() PETElS e faPy svaei |

7z Prafa R g @
(a) Frafa x smam

(b) Frafa + smam

o Trafa - smaa

(d) dawdawsi s Frafa

P.I.O.
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74.

13.

76.
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Match List | with List I1 and select the 72,
correct answer using the codes given
below: ‘

List 1 List I
(Battles) (Year)
A Battle of Chandawar 1. 1398
B Invasion of Taimur 2. 1194
C Battle of Talikota 3. 1529
D Battle of Ghaghra- 4. 1565
Codes :
A B C D
@ 1 2 3 4
(b) 2 3 4 1
(¢) T 4 3 2
d)y 2 1 4 3

Which Union Territory of India has the 3.

lowest literacy rate as per the Census of
20112

(a)
(b)
(c)
(d)
Which of the following is not correctly
matched ?

(a)
(b)
(c)
(d)
Which country topped the medal tally in
2018 Commonwealth Games ?

(a) (b) England
(c) (d) India

Chandigarh

Dadra and Nagar Haveli
Daman and Diu
Lakshadweep

74.

Baikal - Russian Federation
Malawi - Asia
Caspian Sea - Asia - Europe

Tanganyika - Africa

Australia
Canada

Which place in Uttar Pradesh is famous
for 'Surma' Industry ?

(a)
(c)

Varanasi
Moradabad

(b)
(d)

Prayagaraj
Bareilly

51-General Studies 16

76.

T B g I g A R TR R
PT AU IR g

Seill i
(g=) ()
A TeAEIIYE 1. 1388
B R mmRl 2. 1194
¢ TermiHgE 3. 1529
D YERITIYE 4. 1565
gﬁ:
A B c D
@ 1+ 2 3 4
) 2 3 4 1
© 1+ 4 3 2
(d 2 1 4 3
2011 &) TV & SR v = iia g
B aRAI R GATHE?
(a) UG
(b) @R TR &S
(c) AR
(d) oad
Frafafaa i @ sl gafa @i &2
(a) <o - B SRTH
(b) wowd- el
(c) SRagwrR - elmn- R
(d) ST - FBreT
2018 B BRFTACY VBT B Y difess # 30
AT UR BT 231 1@ 2
(¢ ' ;
Vo oamfem ) v
(c) T (d)
IR T3 A IO & e gl &
(c) TEER d)




.

78.

19.

80.

8l1.
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‘AR -

A tariff -

(a) increase in volume of trade
(b)
(c)
(d)

Who is the winner of Nobel Prize for
Literature - 2018 ?

reduces the volume of trade
has no effect on volume of trade
both (a) and (¢) .

(a) Kazuo Ishiguro

(b) Bob Dylan

(c) Patrick Modiano

(d) None of the above

Which film has been chosen as India's
official entry to Oscar Awards 2019.
(a) Sui Dhaga

(b) Pataakha

(c) Village Rockstars

(d) Batti Gul Meter Chalu

Consider the statements :

Assertion (A) : Sugar industry is more
developed in South India.

Reason (R) : Per hectare production and
quantity of juice of sugarcane is higher in
the southern states.

Codes : _
(a) Both (A) and (R) are true and (R) is
the correct explanation of (A).

Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(©)  (A)is true but (R) is false.
(d)  (A)is false but (R) is true.

Which of the following word cannot be
made from the letters of

(b)

DETERMINATION,
(1)  TERMIDE () MODERN
(c/ TENDER (d) MOTHER

51-General Studies
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79.
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(d) wEADE

(a) TR B AN B qGENd

(b) SURP AN B werd

(c) DY SR BN AT o} B vy T @
(d) 2cBta)eE(c)

2018 ¥ aifca e R SRomaRE? |
(2) AR

(b) wafReT

() R

i

2019 & IRAR HaATE S o WRA TRER B 3%
% favw Fopow o1 oo s man 22

(a) FEamm

(b) Gerar

¢y FRsiiswr

(d) s=IBHEaRg

YA R AR e

YA (A) : T 3 afdor Wk | st e
21

DR (R) : T2 Byl TR @R den W A
Bt e afiol sl F st AR E | ‘

PC:

@ R (R) 2w EsR(A) D

W] (R) & |

(A) 72 (R) i v €, g (A) T
Wda<or (R) 7 2 |

() w&@ &, g R |
(A) T g, fs=g (R w2 |

(b)

(c)
(@)

DETERMINATION 31ax & 31arR) 3 PrafdfRaa st

XA T e ?

(a)  TERMIDE (b)  MODERN

(c)  TENDER ()  MOTHER
P.T.O.



82.

83.

84.

85.

86.
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In Uttar Pradesh, which of the following
tribe celebrates Diwali as a sorrow ?
(a)  Sahariya (b) Baiga
(c)  Parahariya (d) Tharu

Maha Kumbha Mela is generally
organised every -

(@ 10" year ®b) 12" year
(c) 14" year (d) 16 year

Match List I with List Il and select the
correct answer using the codes given
below:

ListI List II
A Demetrius 1 Parthian
B Rudradaman 2 Kushana
C Gondophermes 3 Indo - Greek
D Vim * 4 Sythean
Code

A CUCaah
(a) 1 3 2 5
®b) 4 3 1 -
(c) 3 4 1 2
(d 1 2 3 4

Stainless Steel is an alloy in which
following is added along with iron.

(a) Zinc (b)  Chromium
(¢) Tin (d)  Copper

Which of the following pair is not
correctly matched

(a) Indu Prakash - M.G. Ranade
(b) Native Opinion - B.N. Mandlik

(c) Bombay Chronicle - Gopal Krishna
Gokhale
(d) Indian Mirror - Devendranath
Tagore

51-General Studies
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IR RN B -t PrefsRe sranfy A

D sraiFRE?
(a) w=Ra (b) ’i‘“
(c) R @ o
mgmﬂmgm:f&ﬁafﬂtalm’lﬁmm
Irend? '
(@) todad ()  12dad
(c) 1edad (d 1edad
qﬁla&qﬁllawmm%ﬂﬂﬁ
peawRIERGRRA-

@ g
A o 1 U&sd
B wamd 2 U
¢ woRem 3 R=-gAR
D fmwm . 4 T
<.

A B C D
TENEAEFE
b 4 3 1 2
) 3 4 1 2
d 1 2 3 4
wu win s i ag & Sl ok s v
fraRRaa s o :
(@ = (b) ®fEm
() R (d) i
Prafsfaa 3 A eR-agm g @i &2

(a) ¥g%om-en. 3. I

(b) ARa3MAFT - A, o7, wizldes
(c) ﬂﬁﬁﬁm-ﬁmwm
(@) ¥RT PRI W iR



87.

88.
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Match List | with List [ and select the
correct answer using the codes given
below the lists:
List [
(Political parties)
A Indian National
" Congress
B Bhartiya Jan Sangh
C Communist Party
. of India )
D A.LADMK.
Codes :
A
(a) 3
(b) 2
(c) 4
(d) 2

List I1
(Year)
l.l?Sl

2. 1972
3. 1885

4. 1925

—_ W W =
(SR BN

D
2
1
1
3

Match List [ with List II and select the
correct answer using the codes given
below the lists :

List |

Harappa

Hastinapur

Takshashila

Kaushambi

List I}

1. N. G. Majumdar (1936-37)

John Marshall (1913-34)

3. Daya Ram Sahani (1923-24 &
1924-25)

4. B.B. Lal (1950-52)

O O w »

£

Code :

A B C D
@4 2 1 3
1 3 4 2
© 3 4 2
@4 1 3 2

S 1-General Studies
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Gl g
R 2o) (ad)
WRA I B 1951
YR =4 1972
AR GRIaK) 35 1885
.. edens. 1925

OO m >
i R

A
@ 3
(b) 2
© 4
(d 2

- W W — m
s N B O
W - - N g

T | 2 1 3 R B SR g 5
MRAR T TR PR

T
A &

B eRemmR
C aaflen
D s
Ll
. B30, WSHER (1936-37)
2. S A3 (1913-34)

3. TOTIPT IR (1923-24 7T 1924-25)
4. .9, 315 (1950-52)

-t

@':

A B C D
@ 4 2 1 3
(b) 1 -3 4 2
B 3 4 2 1
@ 4 1 3 2

P.1.O.
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90.

91,

92.

93,
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Which of the following pair is not 89. ﬁ'ﬂﬁ'ﬁﬁﬁ I a-agm g T 22
correctly matched ? (a) TR T - Bo0-30-§P
(a) Lahore Proposal -Fazl-ul-Haq (b) dRgR Rt - 315 A Hgd
(b) Pirpur Report - Raj Mohammad (c) S AN firaT wrd
Mehdi (d) i T - UL 3310
(c) People's Plan - Vinoba Bhave
(d) Gandhian Plan-S.N. Agrawala
United Nation's highest environmental 90. #gaawawa‘iaﬂmfamw <R
honour - 'Champion of the Earth'.award 3 2 372f’ qREER 2018 ¥ R wwfret fasam
2018 was conferred on - T ?
(a) Narendra Modi (a) T=AA
(b) Medha Patkar (b) ReTIRIN
() ~Uma Bharti (c) ~IHRH
(d) Sonam Wangchuk (d) SFHIgS
Who among the following was called asa ~ 91. Pore 1 & i RvardiR & 7791 | S Siren 41 2
'Zindapir' ? (a) wEGINE WA (b) Fm&3m@Al
(a) Bahadur Shahl (b) Shah Alam II (c) s (d) snfes e
(c) Aurangzeb (d) Adil Shah
Which of the following Union Territories ~ 92. 2011 & S0 & JJAR s S i yaa
of India has the lowest population density BT ST Ued LA & ?
as per the census of 2011 ? (a) sz IR PR fu TR
(a) Andaman and Nicobar Islands (b) e
(b) Lakshadweep () wAsRdE
(¢) Daman and Diu (d) e 3R AR @R
(d) Dadra and Nagar Haveli
Which of the following city has not been 93, PrA#d f5 7eR B U R TR T
identified as part of National Heritage 3R Had IS & gnta mmfie 1l fsan wan
City Development and Augmentation 2 '
tana ?
Yojana ? (@) SR (b)
@ Aga (b))  Ajmer (€ REdR  (d)  smEER
(c) Amravati (d)  Amntsar
20




94.  The nomenclature of rural local 94. Fnfror wrrira T 1 “derad) 1T S

governments as 'Panchayati Raj' wag the f&a wrefra e & gera o1 aRom a1 2
result of the suggestion of which Indian (a) TTAERGE TS
leader ?
(b) . IGETER
(a) Jawaharlal Nehru
_ (c) TRRIES
(b) Dr. Rajendra Prasad 2
(d) ©a..

(c) Sardar Patel
(d) M. K. Gandhi

95. Match List I with List I and select the 95. . G B g I A gifda AR IRk kiR

correct answer using the codes given A1 pT A v e gie -
below the lists: el gell
List I List 11 (wfifer) (@
(Committees) (Year) A N> g™ 1. 1957
A P.K.Thungan 1. 1957 B smio¥ear 2. 1986
B Ashok Mehta 2. 1986 C @R FE@ 3. 1977
C B.R.Mehta 3. 1977 D eorafimdt 4. 1988
D L.M.Singhvi ~ 4. 1988 FT:
Codes : A B C D
S C D {4 1 3 4 2
(a) 1 3 4 2 (b) 2 1 3 4
b) 2 G © 4 1 2 3
© 4 1 249 @4 3 1 2
@4 3 1 2
96. Which of the following statement 96. WWWW&&@WW@
regarding Project Elephant launched by wafua Frad A s wsyETead ?
Government of India is NOT correct ? (a) TF1991-92 A7 fsarmanan |
(a) It was launched in 1991-92. (b) TEEFa IR RN S dacaiE B
(b) It addresses issues of man-animal WM SER |
conflict. (c) TEBIAS SO e S BeaTT R Sfea
(c) Welfare of only wild elephants is 2l
taken care off. - (d) TSR IEE Ao S ¥ A
(d) It was launched as a centrally . ' Frw fsarman an |

sponsored scheme.

97.  Who amongst the following has been 97. FrfdRem i@ 5 sirfia ey a1 3

appointed chief economist of International FfaeA) Frgaw s man e ?
Monetary Fund ? (2 Marnd=ra  (b) wiRw 3ieades
(a) Gita Gopinath (b) Maurice Obstfeld (c) foRmamE (d) <endis

(¢) Christine Lagarde (d) Radha Paul

S51-General Studies 21 P.T.O.
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100.

101.

102.

103.

104.

105.

106.
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In which of the following place is Indian
Vegetable Research Institute situated ?

(a) (b) Kanpur
(c) (d)  Varanasi

Singrauli Small Hydro Power Project is
located in -

(@) Madhya Pradesh (b) Bihar
() Chhattisgarh (d) Uttar Pradesh

Which of the following do not have a

Agra
Lucknow

major reserve of Lignite. .
(a) Gujarat (b) West Bengal
()  Jharkhand  (d) Puducherry

Lombok strait is located between which
two islands ?7 '

(a) Bali and Lombok

(b) Lombok and Sumbawa
(©
(d)

Cheruthoni Dam is situated on which
river ?

Sumbawa and Java
Java and Bali

(a) Periyar (b)  Pampar

(c) Bhavani (d) Kabini
Which of the following is a warm current?
(a) Falkland Current

(b) Brazil Current

(c) Labrador Current

(d) Canary Current

Which of the following imparts deep blue
color to glass.

(a) Cobalt oxide
(c) Ferric oxide

(b) Cupric oxide
(d) Nickel oxide

The Indian Rupee was made fully
convertible on current account in :

(a) 1994 (b) 1995
(©) 1996 d) 1997

The highest coffee producing country in
the World is :

(@)
(c)

Bolivia
China

Brazil
India

(b)
(d)
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PrfRee 3 2 e o R WRda wsh
FTumERIE R ?

(a) amRT (b) TER
(c) . @S (d) aRwORE
ﬁhﬂaﬁaqmﬁgqqﬁd!mmﬂmt
(a) wEwRW (b) REr
(c) wNTg (d) IeRwRW
ﬁﬂﬁﬁaﬁ%aﬁmtmﬁsﬂﬂﬁﬁ?
(@ R (b) oRmEE
(c) TRES (d) g@ﬂl
Pales sEseRed e 2 gl & 7 Rua &2
(a) @O gd BrES

(b) OrED vd Wl

(c) Eamared S

(d) SmaTEd arh

S a8 R a2

(a) URER (b) TR
(c)  wam (d) e
FrafsRrad Il mari2?

(a) DIBIVSURI

) sl ar

(c) FERURT

(d) FTTRUR ;
Pf=fRaa i % Bt fa ot me o < gem
TAR?

() e sitrens (b) wgfis siass
(c) BRosirms (d) s sirass

Yl 5o Y ey a3 gof afadra @
MgraAan: . i

@) 109 (d) 197

(2)  achfeen 7 aehe



107.

108.

109.
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Consider the statements :

Assertion (A) : The British Government
announced the Communal Award in
August 1932,

Reason (R) : It allowed to each minority
a number of seats in the legislature to he
elected on the basis of a separate
electorate.

Select the correct answer using the codes
given below :

Codes :

(a) Both (A) and (R) are true and (R) is -

the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is
not the correct explanation of (A).
(c) ~ (A)is true but (R) is false.
(d) (A)is false but (R) is true.
The catchment area of which of the
following river is maximum ?

(a) Mahananda  (b)
(c) Ramganga (d)

Sone
Gandak

Ramon Magsaysay Award 2018 was
conferred on which of the following ?

(a) Sonam Wangchuk
(b)  Aung San Suu Kyi
(c) Malala Yousafzai
(d) None of these

S1-General Studies

107. éﬁﬂﬁaﬂ'ﬁ{ﬁwz:

. YA (A) : frdm SRR 3 3T 1932 ¥ Wiyt

REBR B Do B |

BRUI (R) : 5B qE Yol IS WY B
52 furrizel 3 o6 e JRita A ¥ N e
o el o1 geTa g Forafem #3ai | 2
a1 ,

A A 7 e &1 I R T IR g

(a) (A)Tur(R) 3= v & 3Rk (A) BT ES
WIS (R) 7 |

tA) a1 (R) i w1 €, fog (A) 1 e
WS (R) & 2 |

(c) W2 R mati
(d) (A)T=az, fe=g(R)ER|

108. F=feRaa # 9 few 1) &1 510 18w 83 waffts

109.

22
(a) = W& by <=
(©) Regtinit | (d) e
0 HR 3arS 2018 3 5 wmna fsar man?
{2y WFETTgS
(b) IFEAFD
(c) TOOIgYDT
(d) FHIABETA
P.T.0:




E The Vision

110. Given below are two statements, one is 110, ATz RRmE, wive RG]

labelled as Assertion (A) and the other as (A)HWES\W(R)WW?=
Reason (R). _ a2 (A) - HIATEA m;asm“@ 35;\11?1
Assertion (A). In Satavahana period, T @ 31 B WIS T &3 as
Sanskrit along with Prakrit and other folk BRI (R) - FraaTE= ST “;ﬁ ﬂ{ﬁﬂa - I |
languages were developed. 5 wpal a1 3+ DS =T |
Reason (R). Satavahana Kings promoted AT e} IR B T DifTE
the use of Sanskrit and other folk (a) (A)een(R) 2@ & 3R (A) B1E@
languages for literary writingg <ol (R) R |
Choose the correct answer using the codes b (WEn@ il &, g (A) T
given. | : 5 Ry
(@) Both (A) and (R) are true and (R) 1s il

correct explanation of (A) (c) (:) ﬁiﬁ(é)wa |
(b) Both (A)and (R) are true but (R) is (d) (A)TAE,

not the correct explanation of (A)
(¢) (A)is true but (R) is false
(d) = (A) is false but (R) is true

111. Where was Darashukoh buried ? 111, SRR 5w W o a1 T a1 ?
" (a)  Delhi (b) Agma (a) feedt (b) 3w
(c)  Aurangabad (d)  Lahore k) IRMER (d ®ER
112. Aanchal Thakur won India's first ever 112, PrefRaa 3 A fose do # sifes o1gR wRa @ |
International medal in which of these o RIS 3 fersten &t 2
sports? (a) ﬁﬁ (b) w
(@) LongJump (b) . Wrestling (©) I (d) RS
(c) Skiing (d)  Chess
113.  What percentage does Uttar Pradesh 113, SIRA P H1 <05 Ieqe H I Fe31 B AN
contribute to the Mentha oil production of foer gt @2 _
India ? @  60% O %
@@  60% b) 8% © 5% @ 9%
(c) 75% (d) 90% X

114. Who among the following were the 'King 114, FrafdfRea i 4 @ gresms # <o e ad
makers' during Mughal period ? ' Y

(a) Hussain Ali and Abdullah (a) & I IR e

(b) Nasir Khan and Jakariya Khan (b) TRREF IR sTERD @

(c) Shah Hussain and Abdul Hussain (c) m@qm@'@?

(d) Muhammad Zaman and (d) FEE T IR e
Muhammad Junaidi
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1 15.

Match List [ with List [ and select the 115
cotrect answer using the codes given
below the lists :
List I List I1
(States) (vear of coming to CXistence)
A Nagaland 1. 2000
B Jharkhand 2. 1962
C Telangana 3. 1975
D Sikkim 4. 2014
Codes :
A B C D
@ 4 1 2 3
(b) 2 1 4 3
(c) 3 2 1 4
(d) 1 3 4 2
116. By which Act, the Bntish Parliamenthad 116.
abolished the monopoly of East India
Company's trade in India except Tea and
. China trade ?
(a) Charter Actof 1813
(b)  Charter Act of 1833
(c) Charter Actof 1853
(d) Charter Act of 1873
117.. Which country has the lowest density of  117.
population ?
(a) Mongolia {b) Saudi Arabia
(c) Iraq (d) Afghanistan
118. Loudness of sound is measured in terms  118.
of following :
(a) Frequency (b) Amplitude
() Velocity (d) Wavelength
119. Government of India in collaboration with 119
Norwegian Government has established §
centre for Biodiversity Policy and Law at-
(a) Dehradun (b) Chennai
(c) Shillong (d)  New Delhi
120.  Which of the following is not correctly 120.
matched ?
(a) Gold - Kolar
(b) Coal - Jharia
(c) Iron-ore - Guntur
(d) Diamonds - Panna
Fedededoikiirok
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T | B g 11 A gafdsa Hifdre sk gl SR

fed T e A Wl IR gfe::

g | el

(x1=a) (s % s 1 ad)
A . AT 1. 2000
B #WRES 2, 1962
C J&m 3. 1975
D fufrem 4. 2014
@:

A B C D
@ 4 1 2 3
B 2 1 4 3
o) 3 2 1 4
(d) 1 B 2
&g st e i sae A Tm sk d=
P 1Y ATIR D! BISDT 3% 3301 DI & AR
& T ARS USIUSR B TG o< f&ar an?
() 1813 TR S
(b) 18331 AR Hftfraw
(c) 1853 siffrm
(d) 18731 TR Aftfm
PR 3 A w2 i s s o
R TIE?
(a)  wnifda (b) wIA3RE
() T= (d) semfrs
tafy &) yaoal FefdRaa I amd s & -
(B Il (b) ™
(c) @m d) T Ruddd
Rl TRON A 114 WROR & Wi Aoas va sta
fteren it od S S SR A TN B R -
(a) eI H (b) _a=gH
(©  Romd (d) EReHd
Praffaa § Y sl gaa @i &2
(a) WI-BOR
(b) @raer - ala
() Be-3Ew® - TR
(d) ERT-T=

PT.0.



	01.pdf (p.1)
	02.pdf (p.2)
	03.pdf (p.3)
	04.pdf (p.4)
	05.pdf (p.5)
	06.pdf (p.6)
	07.pdf (p.7)
	08.pdf (p.8)
	09.pdf (p.9)
	10.pdf (p.10)
	11.pdf (p.11)
	12.pdf (p.12)
	13.pdf (p.13)
	14.pdf (p.14)
	15.pdf (p.15)
	16.pdf (p.16)
	17.pdf (p.17)
	18.pdf (p.18)
	19.pdf (p.19)
	20.pdf (p.20)
	21.pdf (p.21)
	22.pdf (p.22)
	23.pdf (p.23)
	24.pdf (p.24)
	25.pdf (p.25)

